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Math 13 Winter 2015 Your name:

Instructor (please circle): O Pierre Clare o Mingzhong Cai O Erik van Erp

Problem set 2, due Wed Jan 21

Please show your work. No credit is given for solutions without justification.

(1) Find the volume of the tetrahedron bounded by the planes z = 3y, = = 2y, z +2y = 4 and
z=0.

(2) Find the volume of the solid inside the sphere 22 + 2 + 2% = 16 and oulside the cylinder
z? + 4% = 4, and above the zy-planc z = 0.

(3) Find the center of mass of the half disk consisting of points in the plane with 22 +4% <1
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and y > 0, assuming that the mass density is constant p(x,y) = 1.

.yl

= [ ke
Ll ay@f77 dy
= Ly (a-ap) oy
2 [ y-yrdy
=p (Ly- 4,

=~ (+-4)

})

I}

= 2




B 2= [U-xyr ((sme it alve e
mw( '{’A‘e }'ﬁjr‘m D s A 7‘%//.51,/: :

1!"4& valume (ﬁﬁ %/e. :;/-‘a( =
f( \/ (6-X-y* ﬂ(/q
D

== f:ﬁ/z‘? ‘)/J—r‘rp/ra«/@

((w w= [6-¥", du= flra/ff)

3| x=t
=

= :7( —dx 2 u e A O
S Y S
= DR -é.(zg)g

@ mass = ,gf A4 = AD)= %
ly S’ymmez‘}y X =0,
. A pl
Y = TL_fo yih== fa fa rsing rolrd&

:-—7—C-—j: ”é_fihﬁ%g-—-—‘_i‘s(ﬁosg)o———,‘tsz —a

So the contor of puce x at (o, Ti.)




